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Prob 2

1.0

*square wave source
Vin vin 0 PULSE(0 2.0 le-9 100p 100p 10e-9 20e-9)

*source output impedance
rsrc vin tline_input 75

*the transmission line, 50 ohm, 2ns electrical length
tl tline_input 0 tline_output 0 z0=50 td=250ps

*termaination at end of T-line, 1G ohm
rload tline_output 0 1G

.control
op
tran 10ps 30ns

0.5

0.0

plot V(tline_input) V(tline_output) xl1 0.1lns 5ns

set hcopydevtype=postscript

set hcopypscolor=0

*set hcopydev=kec3ll2-clr

*color0 is background color *colorl: grid & text; color 2-15 vectors
set colox0 = rgb:f/f/f

set colorl rgb:0/0/0

set color2 = rgb:£/0/0

hardcopy prob2.tmp V(tline_input) V(tline_output) x1 0.1lns 5ns
.endc

.end
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